Adding Integers
Name:  					Div.:  				Date:  				

Zero Principle:  The Sum of opposite integers is ALWAYS zero.  E.g.  
Solve using integer tile diagram:
5) 

6) 

7) 

8) 




Solve using a number line:
9) 
1) 

2) 

3) 

4) 






Word problems
9) Naomi has a $145 overdraft at the bank.  She makes a $379 deposit.  How much is in her account now?


10) The melting point of oxygen is -218oC.  The boiling point of oxygen is 35oC higher.  What is the boiling point of oxygen?



11) Copy & Complete each statement:
a. The sum of 2 or more positive integers is always …

b. The sum of 2 or more negative integers is always …

c. The sum of an integer and its opposite is always …

d. The sum of a positive integer and zero is always …

e. The sum of a negative integer and zero is always …
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Why Did the Quiz Show Give Away $10,000 Plus One Banana?

Do eath exercise below and find your answer in the Code Key. Notice the letter above it. Print this letter in the box
at the bottom of the page that contains the number of the exercise.

CODE KEY

@ -6+(-2)= @) -5+(-6)+3= @) ~3+(-4)+11=

@) -5+9= @ -2+9+(-3)= @) 12+3+(-8)=

® 10+(-13)= @ 6+(-10)+1= @ -2+49+(-7)=

@ -2+11= @@ -7+(-1)+(-7)= @2 9+ (~8) + (-4)=

® -8+(-3)= @ -3+5+4= @) 18+ (~6)+(-5)=

® 10+(-9)= - (D -6+(-10)+(-4)= @9 -10+1+2+(-8)=
@ -8+20= @ 7+(-2)+(-10)= @) ~7+12+4(=11)+(-9) =
®) -4+ (-4)= : (8 —6+5+(-2)= @9 —15+4+13+(-5)=
© -9+6= @9 4+ (-9 +(~9)= @9 -8+(-9)+26+(-2)=
(@9 21+(-20)= €0 8+(-12)+2= @) 15+ (=6)+ (~4)+11=
H1|2(3|4|5[6|7|8]|9]10[11{12|13[14]15[16[17[18]19]20]21]22[28] 2425 26]27]28]
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